

**►►► Result Announced Date: 22/09/2025**[Results](#)**I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations****Reg. No. : 24CO0001****Name of the Student : AMALORPAVA SANDHIYA J****Father Name : JESUDASS T****Mother Name : PREMARANI**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)	Th.	3	4.00	12.00	P

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0004

Name of the Student : AYYADURAI B

Father Name : VADIVEL

Mother Name : PRIYA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FINANCIAL ACCOUNTING (MJD01)	Th.	4	5.00	20.00	C
2	ENTREPRENUERIAL SKILLS AND PRACTICES (SEC01)	Th.	3	000	000	F
3	BASIC BOTANY (MLD01)	Th.	3	000	000	F
4	TAMIL- I (AEC01)	Th.	3	5.00	15.00	C

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0006

Name of the Student : BASIL A

Father Name : ABDUL AZEEZ

Mother Name : SAIRA BANU

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FINANCIAL ACCOUNTING (MJD01)	Th.	4	6.00	24.00	B
2	BUSINESS ECONOMICS (MID01)	Th.	4	6.00	24.00	B
3	UNDERSTANDING INDIA	Th.	2	4.00	8.00	P
4	ENTREPRENUERIAL SKILLS AND PRACTICES (SEC01)	Th.	3	000	000	F
5	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	C
6	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0007

Name of the Student : BHARATH B

Father Name : BALASUBRAMANIAN

Mother Name : VANI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th. 3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0009

Name of the Student : DEVAPRAKASH. R

Father Name : RAMESH

Mother Name : SIVASAKTHI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FINANCIAL ACCOUNTING (MJD01)	Th.	4	6.00	24.00	B
2	BUSINESS ECONOMICS (MID01)	Th.	4	6.00	24.00	B
3	UNDERSTANDING INDIA	Th.	2	000	000	F
4	ENTREPRENUERIAL SKILLS AND PRACTICES (SEC01)	Th.	3	000	000	F
5	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	C
6	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0010

Name of the Student : DHANISHKA M

Father Name : MURALI

Mother Name : MUTHULAKSHMI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BUSINESS ECONOMICS (MID01)	Th.	4	5.00	20.00	C
2	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0011

Name of the Student : FAHEEM M

Father Name : MOHAMED ASARABALI

Mother Name : HAMEED NATCHIYAL

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th. 3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0012

Name of the Student : GANESH KUMARAN O

Father Name : OUDAYASSOURIANE

Mother Name : SIVAGAMASUNDARI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	C
2	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0013

Name of the Student : GOVINDARAJAN S

Father Name : SRINIVASAN

Mother Name : NAGAMBIKA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th. 3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0014

Name of the Student : GURUKAILASH K

Father Name : KRISHNAMOORTHY

Mother Name : MARIAMMAL

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FINANCIAL ACCOUNTING (MJD01)	Th.	4	000	000	F
2	UNDERSTANDING INDIA	Th.	2	4.00	8.00	P
3	ENTREPRENUERIAL SKILLS AND PRACTICES (SEC01)	Th.	3	000	000	F
4	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P
5	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0016

Name of the Student : HARIHARAN P

Father Name : PRAKASH

Mother Name : ANITHA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BUSINESS ECONOMICS (MID01)	Th.	4	000	000	F
2	UNDERSTANDING INDIA	Th.	2	000	000	F
3	ENTREPRENUERIAL SKILLS AND PRACTICES (SEC01)	Th.	3	000	000	F
4	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	P
5	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0017

Name of the Student : ILAMATHY A

Father Name : ARUMUGAM

Mother Name : ANANDHASELVI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENTREPRENUERIAL SKILLS AND PRACTICES (SEC01)	Th.	3	6.00	18.00	B

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0019

Name of the Student : JEEVA R

Father Name : RAMU

Mother Name : GOWRI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th. 3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0022

Name of the Student : KISHORE A

Father Name : ANANDHAN

Mother Name : SELVIMARY

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FINANCIAL ACCOUNTING (MJD01)	Th.	4	5.00	20.00	C
2	BUSINESS ECONOMICS (MID01)	Th.	4	000	000	F
3	UNDERSTANDING INDIA	Th.	2	000	000	F
4	ENTREPRENUERIAL SKILLS AND PRACTICES (SEC01)	Th.	3	000	000	F
5	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	C
6	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0023

Name of the Student : KISHORE G

Father Name : GURUNATHAN

Mother Name : AMSAM

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th.	3	5.00	15.00

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0024

Name of the Student : KRISHNAKUMAR R

Father Name : RAMADOSS

Mother Name : SARASU

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BUSINESS ECONOMICS (MID01)	Th.	4	7.00	28.00	B+
2	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	C
3	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0027

Name of the Student : MANIMARAN S

Father Name : SENTHIL KUMAR

Mother Name : GAJALAKSHMI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th. 3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0028

Name of the Student : MEYTHISH V

Father Name : VELMURUGAN

Mother Name : DURGA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	UNDERSTANDING INDIA	Th.	2	5.00	10.00	C
2	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0029

Name of the Student : MOHAMED ADHAM M

Father Name : MOHAMED YOSOF

Mother Name : JULAIKA BEEVI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	UNDERSTANDING INDIA	Th.	2	000	000	F
2	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0032

Name of the Student : MOHAMED NAFIL M

Father Name : MOHAMED RABIK

Mother Name : GHOUUDHU NACHIYAR

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th.	3	5.00	15.00

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0034

Name of the Student : MOHAMED SAMSUDEEN M

Father Name : MOHAMED KUTHUBDEEN

Mother Name : ARIEFF NISHA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th. 3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0035

Name of the Student : MOHAMED SHAFEEQ H

Father Name : HAJA MOHAIDEEN

Mother Name : NAJIRA FARVEEN

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th. 3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0037

Name of the Student : MUKUNDAN R

Father Name : RAMACHANDIRAN

Mother Name : LAKSHMI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FINANCIAL ACCOUNTING (MJD01)		Th.	4	4.00	16.00

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0039

Name of the Student : NIWAS V

Father Name : VENKATESAN

Mother Name : RAJESWARI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th. 3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0041

Name of the Student : PRAVIN R

Father Name : RAMESH

Mother Name : KAVITHA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	TAMIL- I (AEC01)		Th. 3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0044

Name of the Student : RUBESH K

Father Name : KESAVAN

Mother Name : RAJESWARI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FINANCIAL ACCOUNTING (MJD01)	Th.	4	000	000	F
2	BUSINESS ECONOMICS (MID01)	Th.	4	5.00	20.00	C
3	ENTREPRENUERIAL SKILLS AND PRACTICES (SEC01)	Th.	3	000	000	F
4	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0050

Name of the Student : SIVASIDDHARTHAN S

Father Name : SIVA

Mother Name : VINODHA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FINANCIAL ACCOUNTING (MJD01)	Th.	4	000	000	F
2	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Results

**Invalid Register number /
No Results found**



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0052

Name of the Student : SWETHA R

Father Name : RAJAKUMAR

Mother Name : MAHESWARI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)		Th.	3	7.00	21.00

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



►►► Result Announced Date: 22/09/2025

Results

I Semester B.Com.(BACHELOR OF COMMERCE) JUNE 2025 Examinations

Reg. No. : 24CO0053

Name of the Student : VINNARASI C

Father Name : CHANDRASEKARAN

Mother Name : LAKSHMI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	FINANCIAL ACCOUNTING (MJD01)	Th.	4	000	000	F
2	BUSINESS ECONOMICS (MID01)	Th.	4	6.00	24.00	B
3	ENTREPRENUERIAL SKILLS AND PRACTICES (SEC01)	Th.	3	000	000	F
4	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	C
5	TAMIL- I (AEC01)	Th.	3	000	000	F

College : 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

[Click here to view Subjectwise Details](#) [Print](#)

Note : This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.